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‘Q7 If x=5 - 2V6, find the value otx*+ 3,

Q8 In fig. if PQ|| ST,2PQR= 110 and £RST = 130, find ZQRS .

VZ+V3

Ry g a-bv6, find a and b.

Q9 If
Q10 Three students were made to stand on the points P, Q and S with coordinates (3, 2), (-4, 2) and
(- 4, 5) respectively in a playground to play a game. Plot these points and find the coordinates of the
fourth point R so that PQRS form a rectangle. What type of value would you infer from the question?

Q11 Express 2.357 in the form qgwhere p,q are integers, q # 0.

SECTION D (4 MARK QUESTIONS)

Q12 In fig. the side QR of APQR is extended to a point Q . If the bisector of 2PQR and

ZPRs meet at a point T, then prove that ZQTR =  ZQPR .
T

P

Q R i
Q13 Using factor theorem, factorize the polynomial 2x* + x3 — 14x%2 —19x — 6.

Q14 In right triangle ABC, right angled at C, M is the mid
following figure. If DM= CM. Show that :
a) AAMC = ABMD

wcm=§Aa

point of AB, as shown in the







